Multi Way Ball Valve
Flanged End / T Port or L Port

ANSI Class 150 / /Full Bore
MODENTIC 1/2” ~ 6”

FEATURES
« Investment Cast Body Construction
» 3 Way Flanged Ball Valve A
* 4 Pieces of Seats Design
* |SO 5211 Direct Mounting Flange for 1/2” ~ 3”
ISO 5211 Mounting Flange for 4” ~ 6”
* Blow-Out-Proof Stem Design & Anti-Static Device
* Available for either T-Port or L-Port
* Locking Device
* NACE MRO0175 is available upon request

* Super Alloy materials for highly corrosive medium are
available upon request

SPECIFICATIONS

(" wr )

250 173

ICE8M Bo
200 138

<

PRESSURE IN BA

PRESSURE IN PSIG.

B O . 2 . Size Range 1/2" ~ 6" (DN15 ~ DN150)
» End Connection Flanged End, RF
» Working Pressure CF8M - 275 PSI (CWP)
WCB - 285 PS| (CWP)
e Steam Pressure 150 PSIG. Saturated Steam for RTFE.
* Temperature Range -4 to 356 °F (-20 to 180 °C ) for RTFE.

%HT/ZW, % * Design ASME/ANSI B16.34
* Mounting Flange ISO 5211
* Face to Face MFG Standard
* Flange Dimension ASME/ANSI B16.5 Class 150 RF
* Material ASTM
@.2"7,_ * Pressure Testing API 598

7 ;’\

N
i 7
O = \\f. CERTIFICATE
S dah\| :
%\I&\%{\\@”/” * Quality Assurance ISO 9001
7 7 /.»:\ \\ . 7 ; .
{%%&\\\\\@\\\\\\\\\\‘4 21/2"-3" BODY » Material Certificate EN 10204-3.1 MTR
7
ZASE) P , « CE Approval PED 97/23/EC Module H
L2 SIDE ENTRY for 1/2"~2" . -
L TOP ENTRY for 2-1/2"-3"  Canadian Certificate CRN
MATERIAL LIST DIMENSION unit : mm
NO. PART NAME (moremfngﬁsgénable) SIZE PORT| L E H | HL |H4 @G | @) | @1 | @K | @KL |z | z1|C | T | F | Mx@N
ASTM A351 Gr.CF8M DN15 | 1/2" | 16.0 | 147.4 [186.5| 89.0 | 9.0 | 47.8| 89.0 | 60.5 | 35.0 | 42/F04 6 9 [11.2 |16 | 4x@16
1 |BODY :
ASTM A216 Gr.WCB DN20 | 3/4” | 20.0 | 155.8 [218.0| 98.0 | 11.0 | 58.2 | 98.6 | 70.0 | 43.0 | 50/FO5 7 11 | 127 | 1.6 | 4x@16
4 | BALL ASTM A351 Gr.CF8M ”
WSEr STV TEIGTSTE DN25 | 1 25.0 | 168.8 |218.0|102.0| 11.5 | 64.0 |108.0| 79.2 | 51.0 | 50/F05 7 11 | 143 |16 | 4x@16
G ASTM A351 Gr.CF8M DN32 | 1-1/4” | 32.0 | 197.9 [235.0| 1185 | 15.2 | 79.0 |117.5 | 88.9 | 63.5 | 70/FO7 [50/FO5 | 9 | 7 | 14 |15.9 | 1.6 | 4x@16
91'11 0DV SEAL éf;’%"AZMGF-WCB DN40 | 1-1/2" | 38.0 | 218.8 [235.0|127.0| 14.3 | 88.5 |127.0| 98.6 | 73.2 | 70/FO7 |50/FO5 | 9 | 7 | 14 |17.5|1.6 | 4x@16
11-1 TOP SEAL PTFE. DN50 | 2' | 50.0 |244.6 |251.5(154.8| 17.8 [105.8/152.5|120.7| 92.0 |102/F10|70/FO7 | 11 | 9 | 17 [19.1| 1.6 | 4x@19
12 | SEAT RTFE.(15%G.F.) DN65 | 2-1/2" | 65.0 | 270.0 [301.5|166.2 | 17.5 |117.3|177.8|139.7104.7 |102/F10| 70/FO7 | 11 | 9 | 17 |23.3 | 1.6 | 4x@19
13 | THRUST WASHER RTFE.(15%G.F.) "
TN ISTEMIZAGEING RTFE (15%G F) DN8O | 3 76.0 | 292.2 |301.5|173.8 | 17.5 |128.0/190.5|152.4|127.0 |102/F10|70/FO7 | 11 | 9 | 17 |23.9| 1.6 | 4x@19
15 | GLAND BUSH SS304 Ao f
17 | BUSHING PTFE. DIMENSION unit : inch
19 | HANDLE SS304 SIZE PORT| L E H H1 | H4 | G | @ | @I oK @KL | Z |z1| C | T | F | Mx@N
21 || FWIDILE COVER PLASTIG DN15 | 1/2" | 0.63 | 5.80 | 7.34 | 3.50 | 0.35 | 1.88 | 3.50 |2.38 | 1.38 |1.65/F04 0.24 0.35| 0.44 | 0.06 | 4x@0.63
22 | STEM NUT SS304
23 | HANDLE WASHER SS304 DN20 | 3/4" | 0.79 | 6.13 | 858 | 3.86 | 0.43 | 2.29 | 3.88 |2.76 | 1.69 |1.97/F05 0.28 0.43| 0.50 | 0.06 | 4x@0.63
24 | HANDLE NUT SS304 DN25 | 1" | 0.98 | 6.65 | 8.58 | 402 | 0.45 | 2,52 | 4.25 |3.12| 2.01 |1.97/F05 0.28 0.43| 0.56 |0.06 | 4x@0.63
29 | BELLEVILLE WASHER | SS301 "
SN ABIVASHER = DN32 | 1-1/4" | 1.26 | 7.79 | 9.25 | 4.67 | 0.60 | 3.11 | 4.63 |3.50 | 2.50 |2.76/F07|1.97/F05|0.35 | 0.28 | 0.55| 0.63 |0.06 | 4x@0.63
31 | O-RING VITON® DN40 | 1-1/2" | 1.50 | 8.72 | 9.25 | 5.00 | 0.56 | 3.48 | 5.00 |3.88 | 2.88 |2.76/F07|1.97/F05|0.35 | 0.28 | 0.55 | 0.69 |0.06 | 4x@0.63
o
32 | PACKING FOLLOWER | PTFE.+25%G.F. DN50 2 1.97 | 9.63 | 9.90 | 6.09 | 0.70 | 4.17 | 6.00 | 4.75 | 3.62 |4.02/F10|2.76/F07|0.43 | 0.35| 0.67| 0.75 |0.06 | 4x@0.75  E
33 [ STOP PIN SS304 . “
= o e S DN65 | 2-1/2" | 2.56 | 10.63 [11.87 | 6.54 | 0.69 | 4.62 | 7.00 |5.50 | 4.12 |4.02/F10|2.76/F07|0.43 | 0.35 | 0.67 | 0.92 |0.06 | 4x@0.75 2
36 | BOLT WASHER SS304 DN8O | 3" | 299 | 1150 |11.87 | 6.84 | 069 | 504 | 7.50 |6.00| 5.00 |4.02/F10|2.76/F07|0.43 0.35| 0.67 | 0.94 |0.06| 4x20.75 3
—
j=1
o~

md_sales@ms.modentic.com.tw © 2016 Modentic Industrial Corporation

Modentic reserves the rights to change the contents without prior notice

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 « Fax:+ 886 4 23317771 and owned by other respective companies



Multi Way Ball Valve
Flanged End / T Port or L Port

ANSI Class 150 / /Full Bore
MODENTIC 1/2” ~ 6”

FEATURES

« Investment Cast Body Construction
» 3 Way Flanged Ball Valve e
* 4 Pieces of Seats Design
* |SO 5211 Direct Mounting Flange for 1/2” ~ 3”
ISO 5211 Mounting Flange for 4” ~ 6”
* Blow-Out-Proof Stem Design & Anti-Static Device
* Available for either T-Port or L-Port
* Locking Device @EIleND
* NACE MRO0175 is available upon request
» Super Alloy materials for highly corrosive medium are
available upon request

SPECIFICATIONS

* Size Range 1/2" ~ 6” (DN15 ~ DN150)

* End Connection Flanged End, RF

» Working Pressure CF8M - 275 PSI (CWP)
WCB - 285 PSI (CWP)

ICE8M Bo

PRESSURE IN PSIG.

RTFE. BEAT
20 0 50 100 10 200 %0 300
- 1 I 1 I 1 Lyc

e Steam Pressure 150 PSIG. Saturated Steam for RTFE.
* Temperature Range -4 to 356 °F (-20 to 180 °C ) for RTFE.
STANDARDS
* Design ASME/ANSI B16.34
* Mounting Flange ISO 5211
@ « Face to Face MFG Standard
Q\ L * Flange Dimension ASME/ANSI B16.5 Class 150 RF
NEE .
§\&\\> P H3 T » Material ASTM
N\ T
_;‘\\\\\\\,,,\\\%\\\!M \ * Pressure Testing API 598
BN
CERTIFICATE
G @I DI P

* Quality Assurance ISO 9001

» Material Certificate EN 10204-3.1 MTR

» CE Approval PED 97/23/EC Module H
» Canadian Certificate CRN

MATERIAL LIST DIMENSION unit : mm

Rezzz72272 70 Bszzzsel /L K

Y

1
L

MATERIAL

NO- PART NAWE (moiElonnonStavalaie) SizE PORT | L E | HL | H2 | H3 | @G | @3 | @1 | oK z c | T |F | mxon

1 |sony ASTM A351 G.CF8M

ASTM A216 GL.WCB

4 |BALL ASTM A351 Gr.CF8M .

T TorEn PR o DN100 | 4 100 | 368.0 | 600 | 70.0 | 33.0 | 193.0 | 228:6 |190.5 | 157.2 |125/F12 |M12x1.75P| 27 |23.9 | 1.6 | ex@i19

o |ENDITOP CAP ST TR CIWCD!

TRIESRYEE S DN125 | 5° | 125 | 420.0 | 600 | 70.0 | 33.0 | 233.0 | 254.0 |216.0 | 186.0 |125/F12 |M12x1.75P| 27 | 24.0 | 1.6 | 8x@22.3

11-1| TOP SEAL PTEE.

12 | SEAT RTFE.(15%G.F)

13 | THRUST WASHER RTFE.(15%G.F.) DN150 | 6" | 150 | 479.4 | 800 | 77.5 | 435 | 266.0 | 279.4 | 241.3 | 216.0 | 140/F14 | M16x2.0P | 36 | 25.4 | 1.6 | 8x@22.3

14 | STEM PACKING RTEE.(15%G.F.)

15 | GLAND BUSH SS304 —

17 | STEM BUSH 55304 DIMENSION unit : inch

17-1| BUSHING PTFE.

19 |HANDLE SS304

51 THANDLE COVER SLASTIC SIZE PORT | L E | HL | H2 | H3 | @G | @3 | @I | oK z c| T | F | Mxan

28 | STOP PLATE SS304

35 | BODY BOLT SS304

e EEOVIEOmT — DN100 | 4 | 3.94 | 1449 |2362| 2.76 | 1.30 | 7.60 | 9.00 | 7.50 | 6.19 |4.92/F12| M12x1.75P |1.06| 0.94 | 0.06 | 8x20.74

37 |BOLT NUT SS304

37-1| BOLT NUT SS304

RENABIRING ool DNI25 | & | 492 | 1654 |23.62| 276 | 130 | 9.17 |1000 | 850 |732 |492/F12| M12xL.75P|1.06| 0.94 | 0.06| 8x2088  _

42 | GLAND BOLT SS304 E

42-1| GLAND NUT SS304 8

47 | GLAND FLANGE ASTM A351 Gr.CF8 DN150 | 6" | 591 | 18.87 |3150 | 3.05 | 1.71 | 10.47 |11.00 | 950 |8.50 |5.5U/F14| M16x2.0P |142| 100 | 0.06 | 8x20.88 2

50 | ADAPTER ASTM A351 Gr.CF8 g
=
o
N

md sales@ms.modentic.com.tw © 2016 Modentic Industrial Corporation
T S ’ Modentic reserves the rights to change the contents without prior notice
No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.)

Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 « Fax:+ 886 4 23317771 and owned by other respective companies



